The fundamental solution and Fourier series in eigenfunctions of the magnetic Schrödinger operator

This article has been downloaded from IOPscience. Please scroll down to see the full text article. 2009 J. Phys. A: Math. Theor. 42225205
(http://iopscience.iop.org/1751-8121/42/22/225205)
View the table of contents for this issue, or go to the journal homepage for more

Download details:
IP Address: 171.66.16.154
The article was downloaded on 03/06/2010 at 07:51

Please note that terms and conditions apply.

# The fundamental solution and Fourier series in eigenfunctions of the magnetic Schrödinger operator 

V S Serov<br>Department of Mathematical Sciences, University of Oulu, PO Box 3000, FIN-90014, Oulu, Finland<br>E-mail: vserov@cc.oulu.fi

Received 12 February 2009, in final form 13 April 2009
Published 15 May 2009
Online at stacks.iop.org/JPhysA/42/225205


#### Abstract

We study the magnetic Schrödinger differential operator in the arbitrary domains. The coefficients of this operator are assumed to be in $L^{s}$ and $W_{s}^{1}$ spaces, respectively to the derivatives of order 0 and order 1 . We prove the existence of the fundamental solution (as well as the existence of the Green's function for these domains) and its uniform estimates. We obtain the conditions which guarantee the absolute and uniform convergence of the Fourier series in eigenfunctions up to the boundary of a bounded domain. These results might be applied to the ground of the Fourier method.


PACS numbers: 02.30.Jr, 02.30.Nw, 02.30.Tb
Mathematics Subject Classification: 35C10, 35P10, 47F05

## 1. Introduction

Let $\Omega$ be an arbitrary domain with a smooth boundary in $R^{n}, n \geqslant 3$. We consider in this domain a magnetic Schrödinger operator

$$
\begin{equation*}
H_{m}=-(\nabla+\mathrm{i} \vec{A}(x))^{2}+V(x) \cdot, \quad x \in \Omega, \tag{1}
\end{equation*}
$$

where the coefficients $\vec{A}(x)$ (magnetic potential) and $V(x)$ (electric potential) are assumed to be real-valued. We assume also that $\vec{A}(x) \in\left(W_{s}^{1}(\Omega)\right)^{n}$ and $V(x) \in L^{s}(\Omega)$ for some $\frac{n}{2}<s \leqslant \infty$.

It is well known (see [18-10]) that under the above-mentioned conditions for the coefficients, symmetric operator (1) can be defined by the method of quadratic forms. It can be proved that for any function $u \in C_{0}^{\infty}(\Omega)$ the following Gårding's inequality holds:

$$
\begin{equation*}
\left(H_{m} u, u\right)_{L^{2}} \geqslant c_{1}\|\nabla u\|_{L^{2}}^{2}-c_{2}\|u\|_{L^{2}}^{2}, \tag{2}
\end{equation*}
$$

where $0<c_{1}<1, c_{2}>0$.

Since $H_{m}$ is symmetric and semi-bounded from below $H_{m}$ has a self-adjoint Friedrichs extension denoted by $\left(H_{m}\right)_{F}$ in $L^{2}(\Omega)$ with domain

$$
\begin{equation*}
D\left(\left(H_{m}\right)_{F}\right)=\left\{f(x) \in \stackrel{\circ}{W_{2}^{1}}(\Omega): H_{m} f(x) \in L^{2}(\Omega)\right\} \tag{3}
\end{equation*}
$$

where $\stackrel{\circ}{W}_{2}^{1}(\Omega)$ denotes the closure of the space $C_{0}^{\infty}(\Omega)$ by the norm of Sobolev space $W_{2}^{1}(\Omega)$. If $\Omega$ is bounded then the spectrum of this extension is purely discrete, finite multiplicity and has an accumulation point only at $+\infty$ :

$$
\lambda_{1} \leqslant \lambda_{2} \leqslant \cdots \leqslant \lambda_{k} \leqslant \cdots \rightarrow+\infty
$$

The corresponding orthonormal eigenfunctions $\left\{\varphi_{k}(x)\right\}_{k=1}^{\infty}$ form an orthonormal basis in $L^{2}(\Omega)$.

We study the absolute and uniform convergence of the Fourier series associated with the operator $\left(H_{m}\right)_{F}$ for various classes of differentiable functions.

In our case to each function $f \in L^{2}(\Omega)$, we can assign the formal series

$$
\begin{equation*}
f \sim \sum_{k=1}^{\infty} f_{k} \varphi_{k}(x) \tag{4}
\end{equation*}
$$

where $f_{k}$ are the Fourier coefficients of $f$ with respect to the system $\left\{\varphi_{k}(x)\right\}_{k=1}^{\infty}$ of eigenfunctions. In this work, we will establish the following theorems.

Theorem 1. Suppose that $\vec{A}(x) \in\left(W_{s}^{1}(\Omega)\right)^{n}$ and $V(x) \in L^{s}(\Omega)$ for some $\frac{n}{2}<s \leqslant \infty$. Then there exist $C>0$ and $\lambda_{0}>0$ such that for any $\lambda \geqslant \lambda_{0}$, the operator $H_{m}+\lambda I$ has a fundamental solution $F(x, y, \lambda)$ which satisfies the following estimate:

$$
\begin{equation*}
|F(x, y, \lambda)| \leqslant C|x-y|^{2-n} \mathrm{e}^{-\frac{1}{2}|x-y| \sqrt{\lambda}} \tag{5}
\end{equation*}
$$

for all $x, y \in \Omega$.
Without loss of generality, in the following theorem we assume that $\left(H_{m}\right)_{F}$ is positive.
Theorem 2. Assume that $\Omega$ is bounded. Under the same assumptions for $\vec{A}$ and $V$ as in theorem 1, the Fourier series (4) converges absolutely and uniformly on $\Omega$ for each function $f$ in the domain of the operator $\left(H_{m}\right)_{F}^{\sigma}$ for $\sigma>\frac{n}{4}$.

Some survey of the results concerning the convergence of the spectral resolutions associated with the elliptic differential operators can be found in $[1-7,12-15]$ and references therein. We mention only the papers that are of interest from the viewpoint of this paper.

In the present work, we follow partly the techniques appearing in [2, 3, 12, 14]. We use the estimates for the fundamental solution of the Laplace operator and obtain the estimates for the fundamental solution of the magnetic Schrödinger operator. Let us remark here that such estimates for the Schrödinger operator (in the case when the magnetic potential $\vec{A}$ is equal to zero) or for the magnetic Schrödinger operator when the magnetic potential $\vec{A}$ is a constant can be found in [11] (for the Schrödinger operator see also [14]). Due to these estimates, we obtain the estimates for the parametrix and prove the convergence (absolute and uniform) of the Fourier series in terms of eigenfunctions. We use the techniques involving fractional powers of the positive self-adjoint operator and J von Neumann's spectral theorem (see, for example, [14]). It might be mentioned here that the estimates for the fundamental solution of the magnetic Schrödinger operator when the magnetic potential $\vec{A}$ is a function from Sobolev space in consideration have independent interest and, as far as we know, have never appeared in the literature.

## 2. Fundamental solution and Green's function

Since the function $\vec{A}$ belongs to Sobolev class $\left(W_{s}^{1}(\Omega)\right)^{n}$, we can rewrite the operator (1) in the form

$$
\begin{equation*}
H_{m} u(x) \equiv-\Delta u(x)-2 \mathrm{i} \vec{A}(x) \cdot \nabla u(x)+\tilde{q}(x) u(x) \tag{6}
\end{equation*}
$$

where $\tilde{q}(x)$ denotes the following function:

$$
\tilde{q}=|\vec{A}|^{2}+V-\mathrm{i} \nabla \cdot \vec{A}
$$

The Sobolev embedding theorem allow us to conclude that $\tilde{q}$ belongs to $L^{s}(\Omega)$ with the same $s$ as before.

We look for the fundamental solution $F(x, y, \lambda)$ of the operator $H_{m}+\lambda I$, for $\lambda$ positive and large enough, as the solution of the integral equation
$F(x, y, \lambda)=F_{0}(x, y, \lambda)+\int_{\Omega} F_{0}(x, z, \lambda)\left(2 \mathrm{i} \vec{A}(z) \cdot \nabla_{z} F(z, y, \lambda)-\tilde{q}(z) F(z, y, \lambda)\right) \mathrm{d} z$,
where $F_{0}(x, y, \lambda)$ is the fundamental solution of the operator $-\Delta+\lambda I$. It is well known that for any positive $\lambda$ function $F_{0}$ has a form

$$
F_{0}(x, y, \lambda)=(2 \pi)^{-\frac{n}{2}}\left(\frac{\sqrt{\lambda}}{|x-y|}\right)^{\frac{n-2}{2}} K_{\frac{n-2}{2}}(\sqrt{\lambda}|x-y|)
$$

where $K_{v}(t)$ is the Macdonald function of order $v$. Using the well-known properties of the Macdonald function $K_{v}$ (see, for example, [17]), we can assert that there is a constant $C_{0}>0$ such that for any $\lambda>0$ the following inequalities hold:

$$
\begin{equation*}
\left|F_{0}(x, y, \lambda)\right| \leqslant C_{0}|x-y|^{2-n} \mathrm{e}^{-|x-y| \sqrt{\lambda}} \tag{8}
\end{equation*}
$$

and

$$
\begin{equation*}
\left|\nabla_{x} F_{0}(x, y, \lambda)\right| \leqslant C_{0}|x-y|^{1-n} \mathrm{e}^{-|x-y| \sqrt{\lambda}} \tag{9}
\end{equation*}
$$

where $x, y \in R^{n}$.
Proof of theorem 1. We solve the integral equation (7) by iterations. For $j=1,2, \ldots$, we denote
$F_{j}(x, y, \lambda)=\int_{\Omega} F_{0}(x, z, \lambda)\left(2 \mathrm{i} \vec{A}(z) \cdot \nabla_{z} F_{j-1}(z, y, \lambda)-\tilde{q}(z) F_{j-1}(z, y, \lambda)\right) \mathrm{d} z$.
We will prove by induction that there is $\lambda_{0}>0$ such that for all $\lambda \geqslant \lambda_{0}$ and for each $j=0,1,2, \ldots$

$$
\begin{equation*}
\left|F_{j}(x, y, \lambda)\right| \leqslant \frac{C_{0}}{2^{j}}|x-y|^{2-n} \mathrm{e}^{-\frac{1}{2}|x-y| \sqrt{\lambda}} \tag{11}
\end{equation*}
$$

and

$$
\begin{equation*}
\left|\nabla_{x} F_{j}(x, y, \lambda)\right| \leqslant \frac{C_{0}}{2^{j}}|x-y|^{1-n} \mathrm{e}^{-\frac{1}{2}|x-y| \sqrt{\lambda}} \tag{12}
\end{equation*}
$$

where $x, y \in \Omega$ and $C_{0}$ is as in (8) and (9).
It is clear that (11) and (12) hold for $j=0$. In order to prove these estimates for any $j \geqslant 1$ consider two cases: $|x-z| \geqslant|z-y|$ and $|x-z| \leqslant|z-y|$. Using the assumption of induction we can obtain uniformly with respect to $x, y \in \Omega$ the estimates

$$
\begin{align*}
\left|F_{j+1}(x, y, \lambda)\right| & \leqslant \frac{C_{0}^{2}}{2^{j}}\left(\frac{|x-y|}{2}\right)^{2-n} \mathrm{e}^{-\frac{1}{2}|x-y| \sqrt{\lambda}} \int_{|x-z| \geqslant|z-y|}\left(2|\vec{A}(z)||z-y|^{1-n}\right. \\
& \left.+|\tilde{q}(z)||z-y|^{2-n}\right) \mathrm{e}^{-\frac{1}{2}|z-y| \sqrt{\lambda}} \mathrm{d} z+\frac{C_{0}^{2}}{2^{j}}\left(\frac{|x-y|}{2}\right)^{2-n} \mathrm{e}^{-\frac{1}{2}|x-y| \sqrt{\lambda}} \\
& \times \int_{|x-z| \leqslant|z-y|} \mathrm{e}^{-\frac{1}{2}|x-z| \sqrt{\lambda}}\left(2|\vec{A}(z)||x-z|^{1-n}+|\tilde{q}(z)||x-z|^{2-n}\right) \mathrm{d} z \tag{13}
\end{align*}
$$

and (using the same techniques as above)

$$
\begin{align*}
\left|\nabla_{x} F_{j+1}(x, y, \lambda)\right| & \leqslant \frac{C_{0}^{2}}{2^{j}}\left(\frac{|x-y|}{2}\right)^{1-n} \mathrm{e}^{-\frac{1}{2}|x-y| \sqrt{\lambda}} \int_{|x-z| \geqslant|z-y|}\left(2|\vec{A}(z)||z-y|^{1-n}\right. \\
& \left.+|\tilde{q}(z)||z-y|^{2-n}\right) \mathrm{e}^{-\frac{1}{2}|z-y| \sqrt{\lambda}} \mathrm{d} z+\frac{C_{0}^{2}}{2^{j}}\left(\frac{|x-y|}{2}\right)^{1-n} \mathrm{e}^{-\frac{1}{2}|x-y| \sqrt{\lambda}} \\
& \times \int_{|x-z| \leqslant|z-y|} \mathrm{e}^{-\frac{1}{2}|x-z| \sqrt{\lambda}}\left(2|\vec{A}(z)||x-z|^{1-n}+|\tilde{q}(z)||x-z|^{2-n}\right) \mathrm{d} z \tag{14}
\end{align*}
$$

The estimates (13) and (14) show that it suffices to prove that there is $\lambda_{0}>0$ such that for all $\lambda \geqslant \lambda_{0}$ and $x, y \in \Omega$ the following inequality holds:

$$
\begin{align*}
C_{0} \int_{|x-z| \geqslant|z-y|} & \left(2|\vec{A}(z)||z-y|^{1-n}+|\tilde{q}(z)||z-y|^{2-n}\right) \mathrm{e}^{-\frac{1}{2}|z-y| \sqrt{\lambda}} \mathrm{d} z \\
& +C_{0} \int_{|x-z| \leqslant|z-y|}\left(2|\vec{A}(z)||x-z|^{1-n}+|\tilde{q}(z)||x-z|^{2-n}\right) \mathrm{e}^{-\frac{1}{2}|x-z| \sqrt{\lambda}} \mathrm{d} z \leqslant \frac{1}{2^{n}} \tag{15}
\end{align*}
$$

The assumptions for $\vec{A}$ and $V$ and Hölder's inequality allow us to obtain the following estimates (which are uniform in $y$ and $x$ from $\Omega$, respectively):

$$
\begin{align*}
& \int|\vec{A}(z)||z-\cdot|^{1-n} \mathrm{e}^{-\frac{1}{2}|z-| \sqrt{\lambda}} \mathrm{d} z \leqslant\left(\int|\vec{A}(z)|^{p} \mathrm{~d} z\right)^{\frac{1}{p}} \\
& \times\left(\int|z-\cdot|^{p^{\prime}(1-n)} \mathrm{e}^{-\frac{p^{\prime}}{2}|z-\cdot| \sqrt{\lambda}} \mathrm{d} z\right)^{\frac{1}{p^{\prime}}} \leqslant C(\sqrt{\lambda})^{\frac{n}{p}-1} \tag{16}
\end{align*}
$$

where $p$ can be chosen such that $p>n$, and

$$
\begin{align*}
\int|\tilde{q}(z)||z-\cdot|^{2-n} & \mathrm{e}^{-\frac{1}{2}|z-\cdot| \sqrt{\lambda}} \mathrm{d} z \leqslant\left(\int|\tilde{q}(z)|^{p_{1}} \mathrm{~d} z\right)^{\frac{1}{p_{1}}} \\
& \times\left(\int|z-\cdot|^{p_{1}^{\prime}(2-n)} \mathrm{e}^{-\frac{p_{1}^{\prime}}{2}|z-| \sqrt{\lambda}} \mathrm{d} z\right)^{\frac{1}{p_{1}^{\prime}}} \leqslant C(\sqrt{\lambda})^{\frac{n}{p_{1}}-2} \tag{17}
\end{align*}
$$

where $p_{1}$ can be chosen such that $p_{1}>\frac{n}{2}$, and the constant $C$ in (16) and (17) does not depend on $x$ and $y$. Now (15) follows immediately from (16) and (17). Thus, the estimates (11) and (12) are completely proved by induction.

Since the solution $F(x, y, \lambda)$ of the integral equation (7) is given by the series

$$
F(x, y, \lambda)=\sum_{j=0}^{\infty} F_{j}(x, y, \lambda)
$$

where $F_{j}(x, y, \lambda)$ are defined by (10), then the estimates (11) and (12) prove also theorem 1.

Remark 1. It is easy to check that the constant $C$ in theorem 1 is equal to $2 C_{0}$, where $C_{0}$ is as in (8) and (9).

As a consequence of theorem 1, we can obtain the estimates for the derivatives of order 1 of the fundamental solution $F(x, y, \lambda)$. The following corollary holds.
Corollary 1. Under the same assumptions for $\vec{A}$ and $V$ as in theorem 1, there exists a constant $C>0$ such that for all $x, y \in \Omega$

$$
\begin{equation*}
\left|\nabla_{x} F(x, y, \lambda)\right| \leqslant C|x-y|^{1-n} \mathrm{e}^{-\frac{1}{2}|x-y| \sqrt{\lambda}} \tag{18}
\end{equation*}
$$

with $\lambda \geqslant \lambda_{0}$ (where $\lambda_{0}$ is as in the theorem).

Now we are in a position to introduce the Green's function of the operator $\left(H_{m}\right)_{F}+\lambda I$. If $\lambda$ is sufficiently large then the operator $\left(H_{m}\right)_{F}+\lambda I$ is positive and its inverse

$$
\begin{equation*}
\left(\left(H_{m}\right)_{F}+\lambda I\right)^{-1}: L^{2}(\Omega) \rightarrow L^{2}(\Omega) \tag{19}
\end{equation*}
$$

is a bounded operator. It is an integral operator with kernel denoted by $G(x, y, \lambda)$. If we use for this integral operator the symbol $\widehat{G}(\lambda)$ then we have
$\left(\left(H_{m}\right)_{F}+\lambda I\right) \widehat{G}(\lambda)=I, \quad \widehat{G}(\lambda)\left(\left(H_{m}\right)_{F}+\lambda I\right)=I, \quad G(x, y, \lambda)=\overline{G(y, x, \lambda)}$.

Definition 1. The kernel $G(x, y, \lambda)$ of the integral operator $\widehat{G}(\lambda)$ is called the Green's function of the operator $\left(H_{m}\right)_{F}+\lambda I$.

For $\tau>0$, let $\Omega^{\tau}$ and $\Omega^{\frac{\tau}{2}}$ be compact sets, each of them having a smooth boundary, with $\Omega^{\tau} \subset \Omega^{\frac{\tau}{2}} \subset \Omega$ such that

$$
d\left(\Omega^{\tau}, \partial \Omega\right) \geqslant \tau, \quad d\left(\Omega^{\frac{\tau}{2}}, \partial \Omega\right) \geqslant \frac{\tau}{2}
$$

and

$$
d\left(\Omega^{\tau}, \partial \Omega^{\frac{\tau}{2}}\right)=\frac{\tau}{2}
$$

Here $d(X, Y)$ denotes the distance between the sets $X$ and $Y$.
Let $F(x, y, \lambda)$ be a fundamental solution of the operator $\left(H_{m}\right)_{F}+\lambda I$ for $x, y \in \Omega$ and $\lambda$ sufficiently large. We choose the function $\chi \in C_{0}^{\infty}(\Omega)$ such that

$$
\chi(x)= \begin{cases}1, & x \in \Omega^{\tau} \\ 0, & x \in \Omega \backslash \Omega^{\frac{\tau}{2}}\end{cases}
$$

and set

$$
\begin{equation*}
E(x, y, \lambda)=\chi(x) F(x, y, \lambda) \tag{21}
\end{equation*}
$$

By this equation, the function $E(x, y, \lambda)$ is well defined for all $x, y \in \Omega$. Clearly, $E(x, y, \lambda)=F(x, y, \lambda)$ for $x \in \Omega^{\tau}, y \in \Omega$. We will show that $E(x, y, \lambda)$ is a parametrix for $\left(H_{m}\right)_{F}+\lambda I$. To prove this, let us introduce the function

$$
\begin{equation*}
Q(x, y, \lambda):=G(x, y, \lambda)-E(x, y, \lambda) \tag{22}
\end{equation*}
$$

and the corresponding integral operator with kernel $Q(x, y, \lambda)$

$$
\begin{equation*}
\widehat{Q}(\lambda):=\widehat{G}(\lambda)-\widehat{E}(\lambda), \tag{23}
\end{equation*}
$$

where $\widehat{E}(\lambda)$ and $\widehat{G}(\lambda)$ are integral operators in $L^{2}(\Omega)$ with kernels $E(x, y, \lambda)$ and $G(x, y, \lambda)$, respectively. Then it follows from (22) that

$$
\begin{equation*}
\left(\left(H_{m}\right)_{F}+\lambda I\right) \widehat{E}(\lambda)=I+\widehat{P}_{1}(\lambda) \tag{24}
\end{equation*}
$$

where

$$
\widehat{P}_{1}(\lambda)=-\left(\left(H_{m}\right)_{F}+\lambda I\right) \widehat{Q}(\lambda)
$$

and

$$
\begin{equation*}
\widehat{Q}(\lambda)=-\widehat{G}(\lambda) \widehat{P}_{1}(\lambda) \tag{25}
\end{equation*}
$$

If we denote by $P_{1}(x, y, \lambda)$ the kernel of the integral operator $\widehat{P}_{1}(\lambda)$, then for any $f \in L^{2}(\Omega)$,

$$
\begin{equation*}
\widehat{Q}(\lambda) f(x)=-\int_{\Omega}\left(\int_{\Omega} G(x, z, \lambda) P_{1}(z, y, \lambda) \mathrm{d} z\right) f(y) \mathrm{d} y \tag{26}
\end{equation*}
$$

and the kernel $Q(x, y, \lambda)$ (see (22)) has the form

$$
\begin{equation*}
Q(x, y, \lambda)=-\int_{\Omega} G(x, z, \lambda) P_{1}(z, y, \lambda) \mathrm{d} z \tag{27}
\end{equation*}
$$

where $x, y \in \Omega$. As a matter of fact, we cannot characterize and estimate the kernel $P_{1}(x, y, \lambda)$ from (24)-(25). That is why we will proceed a little bit differently, as follows. The equality (21) implies that in the sense of distributions the following representation holds:

$$
\begin{equation*}
\left(H_{m}(x, D)+\lambda I\right) E(x, y, \lambda)=\chi(x) \delta(x-y)+P(x, y, \lambda), \tag{28}
\end{equation*}
$$

where $x \in \Omega(y \in \Omega$ is considered here as a parameter) and $\lambda$ is sufficiently large. The function $P(x, y, \lambda)$ in (28) will be of the form

$$
\begin{equation*}
P(x, y, \lambda)=\sum_{0<|\alpha| \leqslant 2} \frac{D^{\alpha} \chi(x)}{\alpha!} H_{m}^{(\alpha)}(x, D) F(x, y, \lambda) \tag{29}
\end{equation*}
$$

with the differential operator $H_{m}^{(\alpha)}(x, D)$ having the symbol $H_{m}^{(\alpha)}(x,-\mathrm{i} \xi)=\partial_{\xi}^{\alpha} H_{m}(x,-\mathrm{i} \xi)$. It is the polynomial in $\xi \in R^{n}$ of order $\leqslant 1$ and therefore the differential operators $H_{m}^{(\alpha)}(x, D)$ are of order $\leqslant 1$. The concrete form of the differential operators $H_{m}^{(\alpha)}(x, D)$ allows us to estimate the function $P(x, y, \lambda)$ (in comparison with $P_{1}$ ). Indeed, the representation (29) and corollary 1 imply that the following estimate holds:

$$
\begin{equation*}
|P(x, y, \lambda)| \leqslant C\left(|x-y|^{1-n}+|\vec{A}(x)||x-y|^{2-n}\right) \mathrm{e}^{-\frac{1}{2}|x-y| \sqrt{\lambda}} \tag{30}
\end{equation*}
$$

for all $x, y \in \Omega$ and for all $\lambda \geqslant \lambda_{0}$.
Now we need the following lemma.
Lemma 1. For all $x, y \in \Omega$

$$
\begin{equation*}
\chi(y) G(x, y, \lambda)=\chi(x) F(x, y, \lambda)-\int_{\Omega} G(x, u, \lambda) P(u, y, \lambda) \mathrm{d} u \tag{31}
\end{equation*}
$$

where $P$ is as in (29) and $\chi$ is defined as in (21).
Proof. We can rewrite (28) in the operator form as

$$
\left(\left(H_{m}\right)_{F}+\lambda I\right) \widehat{E}(\lambda)=\chi I+\widehat{P}(\lambda)
$$

or (using (22))

$$
\widehat{P}(\lambda)=(1-\chi) I-\left(\left(H_{m}\right)_{F}+\lambda I\right) \widehat{Q}(\lambda)
$$

The latter equation implies

$$
\widehat{Q}(\lambda)=\widehat{G}(\lambda)((1-\chi) I)-\widehat{G}(\lambda) \widehat{P}(\lambda)
$$

and therefore (using (22) again)

$$
\widehat{G}(\lambda)(\chi I)=\widehat{E}(\lambda)-\widehat{G}(\lambda) \widehat{P}(\lambda)
$$

But this is equivalent to (31). Thus, this lemma is proved.
In order to obtain the needed estimates of the Green's function, let us introduce new functions $\widetilde{F}$ and $\widetilde{G}$ which are obtained from $F$ and $G$ multiplying by

$$
\mathrm{e}^{\frac{1}{4}|x-y| \sqrt{\lambda}}|x-y|^{n-2}
$$

Then equation (31) and estimate (30) formally yield the following estimate:

$$
\begin{align*}
& \sup _{x, y \in \Omega}|\chi(y) \widetilde{G}(x, y, \lambda)| \leqslant \sup _{x, y \in \Omega}|\widetilde{F}(x, y, \lambda)|+\sup _{x, y \in \Omega}|\widetilde{G}(x, y, \lambda)| \\
& \quad \times \sup _{x, y \in \Omega}\left(|x-y|^{n-2} \int_{\Omega}|x-z|^{2-n}\left(|z-y|^{1-n}+|\vec{A}(z)||z-y|^{2-n}\right) \mathrm{e}^{-\frac{1}{4}|z-y| \sqrt{\lambda}} \mathrm{d} z\right) \tag{32}
\end{align*}
$$

Considering two possibilities $|x-z| \leqslant|z-y|$ and $|x-z| \geqslant|z-y|$ the value in the latter brackets can be estimated from above by

$$
\begin{aligned}
C \int_{|x-z| \geqslant|z-y|} & \left(|z-y|^{1-n}+|\vec{A}(z)||z-y|^{2-n}\right) \mathrm{e}^{-\frac{1}{4}|z-y| \sqrt{\lambda}} \mathrm{d} z \\
& +C \int_{|x-z| \leqslant|z-y|}\left(|x-z|^{1-n}+|\vec{A}(z)||x-z|^{2-n}\right) \mathrm{e}^{-\frac{1}{4}|x-z| \sqrt{\lambda}} \mathrm{d} z \leqslant \frac{C}{\sqrt{\lambda}}
\end{aligned}
$$

where the constant $C$ does not depend on $x$ and $y$. This estimate allows us to get from (32) that

$$
\begin{equation*}
\sup _{x, y \in \Omega}|\widetilde{G}(x, y, \lambda)| \leqslant \sup _{x, y \in \Omega}|\widetilde{F}(x, y, \lambda)|+\frac{C}{\sqrt{\lambda}} \sup _{x, y \in \Omega}|\widetilde{G}(x, y, \lambda)| . \tag{33}
\end{equation*}
$$

Since

$$
\sup _{x, y \in \Omega}|\widetilde{F}(x, y, \lambda)|<\infty
$$

then for $\lambda$ large enough (33) yields

$$
\sup _{x, y \in \Omega}|\widetilde{G}(x, y, \lambda)|<\infty
$$

Thus we proved the following theorem.
Theorem 3. Assume that $\vec{A}(x) \in\left(W_{s}^{1}(\Omega)\right)^{n}$ and $V(x) \in L^{s}(\Omega)$ for some $\frac{n}{2}<s \leqslant \infty$. Then there exists $\lambda_{0}>0$ such that for any $\lambda \geqslant \lambda_{0}$, the Green's function $G(x, y, \lambda)$ of the operator $H_{m}+\lambda I$ satisfies the following estimate:

$$
\begin{equation*}
|G(x, y, \lambda)| \leqslant C|x-y|^{2-n} \mathrm{e}^{-\frac{1}{4}|x-y| \sqrt{\lambda}} \tag{34}
\end{equation*}
$$

where a positive constant $C$ does not depend on $x, y \in \Omega$ and $\lambda$.

## 3. Convergence of Fourier series

Without loss of generality, we assume in this chapter that $\left(H_{m}\right)_{F}$ is positive. We assume also in this chapter that $\Omega$ is bounded. Then by the J von Neumann's spectral theorem for $\left(H_{m}\right)_{F}+\mu I$, where $\mu \geqslant \lambda_{0}$ with $\lambda_{0}$ is as in theorem 3 , the following representation holds:

$$
\begin{equation*}
\left(\left(H_{m}\right)_{F}+\mu I\right)^{s} f(x)=\int_{0}^{\infty}(\lambda+\mu)^{s} \mathrm{~d} E_{\lambda} f(x) \tag{35}
\end{equation*}
$$

where $s$ is real and $\left\{E_{\lambda}\right\}_{\lambda=0}^{\infty}$ is the spectral resolution corresponding to $\left(H_{m}\right)_{F}$. The domain of the operator (35) can be described as

$$
\begin{equation*}
D\left(\left(H_{m}\right)_{F}^{s}\right)=\left\{f \in L^{2}(\Omega): \int_{0}^{\infty} \lambda^{2 s} \mathrm{~d}\left(E_{\lambda} f, f\right)<\infty\right\} \tag{36}
\end{equation*}
$$

In the case of discrete spectrum, the spectral projector $E_{\lambda}$ has the form

$$
\begin{equation*}
E_{\lambda} f(x)=\sum_{\lambda_{k}<\lambda} f_{k} \varphi_{k}(x) \tag{37}
\end{equation*}
$$

where $f_{k}$ are the Fourier coefficients of $f$ with respect to the orthonormal basis $\left\{\varphi_{k}(x)\right\}_{k=1}^{\infty}$ of eigenfunctions of $\left(H_{m}\right)_{F}$. Hence relations (35) and (36) become

$$
\begin{equation*}
\left(H_{m}\right)_{F}^{s} f(x)=\sum_{k=1}^{\infty} \lambda_{k}^{s} f_{k} \varphi_{k}(x) \tag{38}
\end{equation*}
$$

$$
\begin{equation*}
D\left(\left(H_{m}\right)_{F}^{s}\right)=\left\{f \in L^{2}(\Omega): \sum_{k=1}^{\infty}\left|f_{k}\right|^{2} \lambda_{k}^{2 s}<\infty\right\} \tag{39}
\end{equation*}
$$

In addition, we need a special representation for the negative fractional powers of $\left(H_{m}\right)_{F}$. Let us start with the spectral representation for the Green operator $\widehat{G}(t)$ (see (20)):

$$
\widehat{G}(t) f(x)=\int_{0}^{\infty} \frac{1}{\lambda+t} \mathrm{~d} E_{\lambda} f(x), \quad t>0 .
$$

If we assume that $0<\tau<1$ then using the well-known properties of Euler beta-function and (35), one can obtain

$$
\begin{align*}
\left(\left(H_{m}\right)_{F}+\mu I\right)^{-\tau} f(x) & =\int_{0}^{\infty}(\lambda+\mu)^{-\tau} \mathrm{d} E_{\lambda} f(x) \\
& =\frac{\sin (\tau \pi)}{\pi} \int_{0}^{\infty}\left(\int_{0}^{\infty} \frac{t^{-\tau}}{\lambda+\mu+t} \mathrm{~d} t\right) \mathrm{d} E_{\lambda} f(x) \\
& =\frac{\sin (\tau \pi)}{\pi} \int_{0}^{\infty} t^{-\tau}\left(\int_{0}^{\infty} \frac{1}{\lambda+\mu+t} \mathrm{~d} E_{\lambda} f(x)\right) \mathrm{d} t \\
& =\frac{\sin (\tau \pi)}{\pi} \int_{0}^{\infty} t^{-\tau} \hat{G}(\mu+t) f(x) \mathrm{d} t \tag{40}
\end{align*}
$$

Therefore, it can be concluded that $\left(\left(H_{m}\right)_{F}+\mu I\right)^{-\tau}, 0<\tau<1$, is an integral operator. Let us denote the kernel of this operator by $K_{\tau}(x, y)$. The following lemma holds.

Lemma 2. If $0<\tau<1$ then the kernel $K_{\tau}(x, y)$ satisfies the estimate

$$
\begin{equation*}
\left|K_{\tau}(x, y)\right| \leqslant C|x-y|^{2 \tau-n} \mathrm{e}^{-\frac{1}{8}|x-y| \sqrt{\mu}} \tag{41}
\end{equation*}
$$

where $x, y \in \Omega$ and $C$ is a positive constant which does not depend on $x$ and $y$.
Proof. Using (40) we can get

$$
K_{\tau}(x, y)=\frac{\sin (\tau \pi)}{\pi} \int_{0}^{\infty} t^{-\tau} G(x, y, \mu+t) \mathrm{d} t
$$

The inequality (34) then implies that

$$
\begin{aligned}
\left|K_{\tau}(x, y)\right| & \leqslant C|x-y|^{2-n} \int_{0}^{\infty} t^{-\tau} \mathrm{e}^{-\frac{1}{4}|x-y| \sqrt{\mu+t}} \mathrm{~d} t \\
& \leqslant C|x-y|^{2-n} \mathrm{e}^{-\frac{1}{8}|x-y| \sqrt{\mu}} \int_{0}^{\infty} t^{-\tau} \mathrm{e}^{-\frac{1}{8}|x-y| \sqrt{ } t} \mathrm{~d} t
\end{aligned}
$$

Changing the variable of integration in the latter integral we can easily obtain (41). Thus, lemma 2 is proved.

Lemma 3. Assume that $0<\tau_{1}, \tau_{2}<1$. Then the operator

$$
\left(\left(H_{m}\right)_{F}+\mu I\right)^{-\left(\tau_{1}+\tau_{2}\right)}:=\left(\left(H_{m}\right)_{F}+\mu I\right)^{-\tau_{1}} \cdot\left(\left(H_{m}\right)_{F}+\mu I\right)^{-\tau_{2}}
$$

is an integral operator with kernel $K_{\tau_{1}+\tau_{2}}(x, y)$ which satisfies the estimate

$$
\begin{equation*}
\left|K_{\tau_{1}+\tau_{2}}(x, y)\right| \leqslant C|x-y|^{2\left(\tau_{1}+\tau_{2}\right)-n} \mathrm{e}^{-\frac{1}{8}|x-y| \sqrt{\mu}} \tag{42}
\end{equation*}
$$

where $x, y \in \Omega$.

Proof. It is clear that the considered operator is an integral operator and its kernel $K_{\tau_{1}+\tau_{2}}(x, y)$ can be estimated as (see (41))

$$
\begin{align*}
\left|K_{\tau_{1}+\tau_{2}}(x, y)\right| & \leqslant \int_{\Omega}\left|K_{\tau_{1}}(x, z)\right|\left|K_{\tau_{2}}(z, y)\right| \mathrm{d} z \\
& \leqslant C \mathrm{e}^{-\frac{1}{8}|x-y| \sqrt{\mu}} \int_{\Omega}|x-z|^{2 \tau_{1}-n}|z-y|^{2 \tau_{2}-n} \mathrm{~d} z \tag{43}
\end{align*}
$$

where $x, y \in \Omega$. Using now the well-known estimates for convolution in (43) of the weak singularities we can obtain (42). Here we have used the fact that $\Omega$ is bounded. Hence, lemma 3 is proved.

We are now in a position to formulate the main results of this paragraph.
Lemma 4 (main lemma). Assume that $\vec{A}(x) \in\left(W_{s}^{1}(\Omega)\right)^{n}, V(x) \in L^{s}(\Omega)$ for some $\frac{n}{2}<s \leqslant \infty$ and $\sigma>n / 4, n \geqslant 2$. Then for any function $f(x) \in L^{2}(\Omega)$ the following inequality holds:

$$
\begin{equation*}
\left\|\left(\left(H_{m}\right)_{F}+\mu I\right)^{-\sigma} f\right\|_{L^{\infty}(\Omega)} \leqslant C \mu^{\frac{n}{4}-\sigma}\|f\|_{L^{2}(\Omega)}, \tag{44}
\end{equation*}
$$

where $\mu \geqslant \lambda_{0}$ with $\lambda_{0}$ as in theorem 3 .
Proof. Let us recall that the operator $\left(\left(H_{m}\right)_{F}+\mu I\right)^{-\sigma}$ for any positive $\sigma$ can be represented by the following composition:

$$
\left(\left(H_{m}\right)_{F}+\mu I\right)^{-\sigma}=\left(\left(H_{m}\right)_{F}+\mu I\right)^{-\tau_{1}} \cdots\left(\left(H_{m}\right)_{F}+\mu I\right)^{-\tau_{m}},
$$

where $\tau_{1}+\cdots+\tau_{m}=\sigma$ and $0<\tau_{j}<1$ for each $j=1,2, \ldots, m$. Hence, this operator is the integral operator with kernel $K_{\sigma}$, and lemma 3 implies that this kernel satisfies the estimates (42) with the substitution $\sigma$ instead of $\tau_{1}+\tau_{2}$. Then applying (42) and the Cauchy-Bunjakovskii inequality we may obtain

$$
\begin{aligned}
\left|\left(\left(H_{m}\right)_{F}+\mu I\right)^{-\sigma} f(x)\right| & \leqslant C\left(\int_{\Omega}|x-y|^{4 \sigma-2 n} \mathrm{e}^{-\frac{1}{8}|x-y| \sqrt{\mu}} \mathrm{d} y\right)^{\frac{1}{2}}\|f\|_{L^{2}(\Omega)} \\
& \leqslant C \mu^{\frac{n}{4}-\sigma}\|f\|_{L^{2}(\Omega)} .
\end{aligned}
$$

This completes the proof of lemma 4.
Corollary 2. Assume that $\sigma>n / 4$. There is a constant $C>0$ depending only on $\Omega$, such that the estimate

$$
\begin{equation*}
\sum_{k=1}^{\infty} \frac{\left|\varphi_{k}(x)\right|^{2}}{\left(\lambda_{k}+\mu\right)^{2 \sigma}} \leqslant C \mu^{\frac{n}{2}-2 \sigma} \tag{45}
\end{equation*}
$$

holds uniformly in $x \in \Omega$ and $\mu \geqslant \lambda_{0}$.
Proof. By the spectral theorem and relation (38), we can rewrite the inequality (44) in the form
$\left|\left(\left(H_{m}\right)_{F}+\mu I\right)^{-\sigma} f(x)\right|=\left|\sum_{k=1}^{\infty}\left(\lambda_{k}+\mu\right)^{-\sigma} f_{k} \varphi_{k}(x)\right| \leqslant C \mu^{\frac{n}{4}-\sigma}\left(\sum_{k=1}^{\infty}\left|f_{k}\right|^{2}\right)^{1 / 2}$,
where $f_{k}$ are the Fourier coefficients of $f$ with respect to the orthonormal basis $\left\{\varphi_{k}(x)\right\}_{k=1}^{\infty}$. Hence, by duality in the Hilbert space $l^{2}$ we may conclude that (45) holds. It proves this lemma.

Remark 2. The inequality (45) has an independent interest since it gives the 'bundle' estimate of the eigenfunctions in the form

$$
\begin{equation*}
\sum_{\lambda \leqslant \lambda_{k}<2 \lambda}\left|\varphi_{k}(x)\right|^{2} \leqslant C \lambda^{\frac{n}{2}} \tag{46}
\end{equation*}
$$

uniformly in $x \in \Omega$ and $\lambda \geqslant \lambda_{0}$.
We are now ready to prove theorem 2.
Proof of theorem 2. Suppose that $\sigma>n / 4$. The Cauchy-Bunjakovskii inequality and lemma 4 lead to the inequality

$$
\begin{aligned}
\sum_{k=1}^{\infty}\left|f_{k} \varphi_{k}(x)\right| & \leqslant\left(\sum_{k=1}^{\infty}\left(\lambda_{k}+\mu\right)^{-2 \sigma}\left|\varphi_{k}(x)\right|^{2}\right)^{1 / 2}\left(\sum_{k=1}^{\infty}\left|f_{k}\right|^{2}\left(\lambda_{k}+\mu\right)^{2 \sigma}\right)^{1 / 2} \\
& \leqslant C \mu^{\frac{n}{4}-\sigma}\left(\sum_{k=1}^{\infty}\left|f_{k}\right|^{2}\left(\lambda_{k}+\mu\right)^{2 \sigma}\right)^{1 / 2} \leqslant C\left(\sum_{k=1}^{\infty}\left|f_{k}\right|^{2} \lambda_{k}^{2 \sigma}\right)^{1 / 2}
\end{aligned}
$$

for any fixed $\mu \geqslant \lambda_{0}$. But the latter series converges since $f \in D\left(\left(H_{m}\right)_{F}^{\sigma}\right)$ (see (39)). Thus, theorem 2 is proved.

Let us assume now that $\vec{A}(x)$ and $V(x)$ satisfy the conditions

$$
\left\{\begin{array}{lll}
\vec{A}(x) \in\left(W_{2}^{1}(\Omega)\right)^{3}, & V(x) \in L^{2}(\Omega), & n=3,  \tag{47}\\
\vec{A}(x) \in\left(W_{s}^{1}(\Omega)\right)^{n}, & V(x) \in L^{s}(\Omega), & \frac{n}{2}<s \leqslant \infty, \\
n \geqslant 4 .
\end{array}\right.
$$

The following result is valid.
Theorem 4. Suppose that $\vec{A}(x)$ and $V(x)$ satisfy the conditions (47). Then for each function $f \in W_{2}^{2}(\Omega)$

$$
\begin{equation*}
\lim _{\lambda \rightarrow+\infty}\left\|f-E_{\lambda} f\right\|_{W_{2}^{2}}=0 \tag{48}
\end{equation*}
$$

where $E_{\lambda}$ is the spectral resolution corresponding to $\left(H_{m}\right)_{F}$.
Proof. Using the Sobolev embedding theorem we easily conclude that the conditions (47) imply the inclusion

$$
\stackrel{\circ}{W_{2}^{2}}(\Omega) \subset D\left(\left(H_{m}\right)_{F}\right)
$$

And for any $f \in \stackrel{\circ}{W_{2}^{2}}(\Omega)$, the following inequality holds:

$$
\left\|\left(H_{m}\right)_{F} f\right\|_{L^{2}(\Omega)} \leqslant C\|f\|_{W_{2}^{2}(\Omega)}
$$

Moreover, we may assert that the operator $\left(H_{m}\right)_{F}+\mu I$ is invertible for $\mu$ large enough. Indeed, since the function

$$
h(x):=\left(\left(H_{m}\right)_{F}+\mu I\right) f(x), \quad f(x) \in \stackrel{\circ}{W_{2}^{2}}(\Omega)
$$

belongs to $L^{2}(\Omega)$, we have the representation for $f(x)$
$f(x)=-(-\Delta+\mu I)_{F}^{-1} h(x)+2 \mathrm{i}(-\Delta+\mu I)_{F}^{-1}(\vec{A} \cdot \nabla f)(x)-(-\Delta+\mu I)_{F}^{-1}(\tilde{q} f)(x)$,
where $(-\Delta+\mu I)_{F}$ denotes the Friedrichs self-adjoint extension for $-\Delta+\mu I$ in $L^{2}(\Omega)$. Using again the Sobolev embedding theorem and the conditions (47) we may conclude that the functions $h, \vec{A} \cdot \nabla f$ and $\tilde{q} f$ belong to $L^{2}(\Omega)$. The results of [1] (see also [16]) yield that
the operator $(-\Delta+\mu I)_{F}^{-1}$ exists with small operator norm for $\mu$ large enough. This fact and the latter identity imply that for $\mu$ large enough the operator $\left(\left(H_{m}\right)_{F}+\mu I\right)$ is invertible and for any $h \in L^{2}(\Omega)$ the following inequality holds:

$$
\begin{equation*}
\left\|\left(\left(H_{m}\right)_{F}+\mu I\right)^{-1} h\right\|_{W_{2}^{2}(\Omega)} \leqslant C\|h\|_{L^{2}(\Omega)} \tag{49}
\end{equation*}
$$

Using now (49) for $f \in W_{2}^{2}(\Omega)$ we have

$$
\begin{aligned}
\left\|f-E_{\lambda} f\right\|_{W_{2}^{2}(\Omega)} & =\left\|\left(\left(H_{m}\right)_{F}+\mu I\right)^{-1}\left(h-E_{\lambda} h\right)\right\|_{W_{2}^{2}(\Omega)} \\
& \leqslant C\left\|h-E_{\lambda} h\right\|_{L^{2}(\Omega)} \rightarrow 0, \quad \lambda \rightarrow+\infty
\end{aligned}
$$

where $h:=\left(\left(H_{m}\right)_{F}+\mu I\right) f \in L^{2}(\Omega)$ and the convergence to zero in the last term follows from the J von Neumann spectral theorem. Hence, theorem 4 is proved.

Corollary 3. Let $n=3$. Then for any $f \in \stackrel{\circ}{W}_{2}^{\alpha}(\Omega)$ with $\alpha>\frac{3}{2}$ the Fourier series (4) converges absolutely and uniformly on $\Omega$.

Let us conclude this paper by two important remarks.
Remark 3. There are the analogs of theorems 1 and 2 for the two-dimensional case.
Theorem 5. Suppose that $\vec{A}(x) \in\left(W_{s}^{1}(\Omega)\right)^{2}$ and $V(x) \in L^{s}(\Omega)$ for some $1<s \leqslant \infty$. Then there exist $C>0$ and $\lambda_{0}>0$ such that for any $\lambda \geqslant \lambda_{0}$, the operator $H_{m}+\lambda I$ has a fundamental solution $F(x, y, \lambda)$ which satisfies the following estimate:

$$
|F(x, y, \lambda)| \leqslant C(1+|\log (|x-y| \sqrt{\lambda})|) \mathrm{e}^{-\frac{1}{2}|x-y| \sqrt{\lambda}}
$$

for all $x, y \in \Omega$.
Theorem 6. Assume that $\Omega$ is bounded. Under the same assumptions for $\vec{A}(x)$ and $V(x)$ as in theorem 5, the Fourier series (4) converges absolutely and uniformly on $\Omega$ for each function $f(x)$ in the domain of the operator $\left(H_{m}\right)_{F}^{\sigma}$ for $\sigma>\frac{1}{2}$.

Remark 4. It is not difficult to check that theorem 4 is also valid for the two-dimensional case if we assume that $\vec{A}(x) \in\left(W_{2}^{1}(\Omega)\right)^{2}$ and $V(x) \in L^{2}(\Omega)$. Moreover, under some additional conditions for $\vec{A}(x)$ and $V(x)$, the following theorem holds (see [13, 16] for details) for any dimension $n \geqslant 2$.

Theorem 7. Assume that $\vec{A}(x) \in\left(W_{2}^{2 l+1}(\Omega)\right)^{n}$ and $V(x) \in W_{2}^{2 l}(\Omega)$, where $n \geqslant 2$ and $l=\left[\frac{n}{4}\right]$ is an entire part of $\frac{n}{4}$. Then the Fourier series (4) converges absolutely and uniformly on $\Omega$ for each function $f(x)$ from Sobolev space $\stackrel{\circ}{W}_{2}^{\alpha}(\Omega)$ for $\alpha>\frac{n}{2}$.

## Acknowledgments

This work was supported by the Academy of Finland (Application No 213476, Finnish Programme for Centres of Excellence in Research 2006-2011).

## References

[1] Alimov S A 1972 Fractional powers of elliptic operators and isomorphism of classes of differentiable functions Differentsial'nye Uravneniya 8 1609-26 (in Russian)
[2] Alimov S A and Joo I 1983 On the Riesz summability of eigenfunctions expansions Acta Sci. Math. 45 5-18
[3] Alimov S A and Joo I 1985 On eigenfunction expansions connected with the Schrödinger operator Acta Sci. Math. 48 5-12
[4] Ashurov R R 1987 Asymptotics of the spectral function of the Schrödinger operator with potential $q \in L^{2}\left(R^{3}\right)$ Differentsial'nye Uravneniya 23 169-72 (in Russian)
[5] Ashurov R R and Faiziev J E 2005 On eigenfunction expansions associated with the Schrödinger operator with a singular potential Differentsial'nye Uravneniya 41 241-9
Ashurov R R and Faiziev J E 2005 On eigenfunction expansions associated with the Schrödinger operator with a singular potential (transl.) Diff. Equations 41 (2) 254-63
[6] Khalmukhamedov A R 1986 Convergence of spectral expansions for a singular operator Differentsial'nye Uravneniya 22 2107-17 (in Russian)
[7] Khalmukhamedov A R 1984 Eigenfunction expansions for the Schrödinger operator with a singular potential Differentsial'nye Uravneniya 20 1642-5 (in Russian)
[8] Simon B 1971 Hamiltonians defined by quadratic forms Commun. Math. Phys. 21 192-210
[9] Simon B 1971 Quantum Mechanics for Hamiltonians Defined by Quadratic Forms (Princeton, NJ: Princeton University Press)
[10] Simon B 1973 Schrödinger operators with singular magnetic vector potential Math. Z. 131 361-70
[11] Simon B 1982 Schrödinger semigroups Bull. Am. Math. Soc. 7 447-526
[12] Serov V S 1992 The absolute convergence of spectral expansions for operators with singularities Differentsial'nye Uravneniya 28 127-36
Serov V S 1992 The absolute convergence of spectral expansions for operators with singularities (transl.) Diff. Equations 28 (1) 120-9
[13] Serov V S 1989 Interpolation of Besov classes and absolute convergence of Fourier series Differentsial'nye Uravneniya 25 174-6 (in Russian)
[14] Serov V S 2000 The convergence of Fourier series in eigenfunctions of the Schrödinger operator with Kato potential Matematicheskie Zametki 67 755-63
Serov V S 2000 The convergence of Fourier series in eigenfunctions of the Schrödinger operator with Kato potential (transl.) Math. Notes 67 (no 5-6) 639-45
[15] Serov V S 2007 Fundamental solution and Fourier series in eigenfunctions of degenerate elliptic operator J. Math. Appl. 329 132-44
[16] Triebel H 1980 Theory of Interpolation, Functional Spaces, Differential Operators (Moscow: Mir)
[17] Watson G N 1996 A Treatise on the Theory of Bessel Functions (Cambridge: Cambridge University Press)

